REX

]
INAIN—Y)
XS150S8

ah o {45 5

$%h 20094 1H

5% 380150
NN —)—XS150S

(F—UNAAT)

ﬂ BHBA  2022/6/1



380150 /\f/3\—Y— XS150S

B#HA 2022/6/1




380150 /\f/3—Y— XS150S
HE | HaRES B & A HE | {ZHEH " E
1 HPX01 |¥+¥J4A¥a—FK (1.25 X 2C X 2.5M) 1 2,780
2 HPX02 |3—K7—<% 1 420
3 HPX03 |#vE>Hl (M4 x 16 $55% %) 2 150
4 HPX04 |2—KH)vTF 1 150
5 HPX05 |#vE>Hl (M4 x 20 $55% &) 5 150
6 HPX06 [#vE> Al (M5 x 30 455 &) 4 150
7 HPX07 [/\wERIL (R) 1 1,620
8 HPX08 |/\>FJL (L) 1 1,620
9 HPX09 |RAvF 1 2,080
10 HPX10 |kUA 1 470
11 HPX11 |A#vE>HLl (M4 x 30 $55% ) 2 150
12 HPX12 |arvba—3a=yk 148 18,480
13 HPX13 |h—Rr LSy (7x11) 2 980
14 HPX14 |h—HR2 T35 (7x11x17) 148 820
15 HPX15 |h—ARrFvyT 2 470
16 R RL (M4X10XP0.7) 1 150
17 EES (4X10X1) 5 150
18 HPX18 |5 ®vk (8% 15X 5) 1 1,140
19 HPX19 [AR—H (8x12x10.5) 1 420
20 HPX20 [/ o4 1 7,520
21 HPX21 |XT—% 1 9,830
22 HPX22 |[FhE£#A#FvE L (M5 x 60) 2 150
23 HPX23 |27 H4AF 1 990
24 S373  [R7ULY (60822) 1 980
25 HPX25 |7Z=Fa7 (100V) 1 21,380
26 HPX26 |72 5 (6001DU) 1 1,080
27 HPX27 |oUv4 (p28x%2) 1 180
28 HPX28 |RfENAFERILE (M5 x 30 +4BvAYY) 4 150
29 HPX29 |4vE Rl (M5 x 40 $55%5) 4 150
30 HPX30 |¥¥~7—X 1 10,400
32 HPX32 |=Z—FILR7YLS (TLA1015) 1 2,080
33 HPX33 |RSARTvi+w (p40x p60%1) 1 3930
33 HPX34 |RSARRTYLS (40603) 1 '
35 HPX35 |AAXNL¥Y (57T) 1 12,710
37 HPX37 |H4KJoysy 1 6,240
38 HPX38 |=—FILAR7ULS (TAF71410) 1 2,440
40 HPX40 |hyFUrFb5v9 1 7,520
41 HPX41 |RENFERILE (M5 x 12 +40vAYY) 2 150
42 WQO06  [#fEk (¢6) 1 150
43 HPX43 |ATULY (p08% pa1x p57x6T)| 1 150
44 HPX44 |7wv/8—Hh/3— 1 14,450
45 HPX45 |H4FO—5 (p6x 912x10) 2 2,080
46 HPX46 |A—5&h (%) (¢ 6x28) 1 1,050
47 HPX47 |Zz/Lk/RwExy 1 510
48 HPX48 | —IL/yFy 1 510
49 /Ml (M3X10XP0.7) 2 150
50 HPX50 |R—/L/vFHl (M10XP1.5X% ¢ 6) 1 2,550
51 HPX51 |V—&YJL—bk 1 1,050
52 RANFERILE (M5X16XP0.8) 2 150
53 HPX53 |REVKIL(TS D) 1 10,980
54 381007 |V—RILE 1 — &SIk
56 HPX56 |Z0Ykh/A—(TLAH/N—) 1 3,700
57 ZB24 |[RABHEX/ S (FEUN4) 1 150
58 HPX58 |#ilETvi v (Pp4x p11x1) 1 150
67 W752  |RARGEEHRLE (KIXH5E M5 X 6) 2 150
60 HPX60 |RSARRTYLY (0816) 1 1 830 R7YvTEy b
61 HPX61 |RF7YLTIvivy (p8Xx P16x1) 2 ' HPX60 - 61
62 WG05 |IEHES (5) 11 150
63 HPX63 [R/3\FHRILE 1 440
68 TS (5X12X1) 1 150
65 HPX65 |A—S& (&) (¢ 6x33) 1 1,120
66 W742  |RARGEEHRLE KIF#HF M4 x6) 2 150
59 HPX70 [Fz— N/ X—= 1| 39270
59-1 | HPX71 [/ "4 ZA&K{E 1 8,670
59-2 [ HPX72 |Enft&h (M14Xx P 2.0) 1 7,520
59-3 | HPX73 |f#ftL/\— 1 3,700
59-4 | WL4L [RTULTEL (4% 10) 1 150
59-5 | HPX75 [|#YHl (M14 X P 2.0) 1 6,700
59-6 [ HPX76 [Fx—>hILZ TS5 vk 1 1,390
59-7 HP89 |=—FIEY (D5 % 19.8) 1 210
59-8 | HPX78 [TA4REVRE—X 2 240
59-9 | HPX79 |[Fz—V 1 11,320
64 HPX81 |F¥ULiHr—2R 1 9,010
EHA  2022/6/1




